
 

Page 212 
 

  QUESTION 88   4.4-MC-B 
 

Question: 
 
A store offers a discount of $5 for every $50 in purchases.  The graph 
below illustrates the relation between the value of the purchases and 
the amount of discount a customer receives. 
 
 
 Discount Amount 

50 

y 

x 
Amount Spent 

5 

Amount of 
Discount 

0 

 
 
Consider the following five statements regarding the graph. 
 

1. A customer who spends $150 will receive a $10 discount. 
2. A customer who spends $75 will receive a $5 discount. 
3. A customer will receive a $5 discount when spending less than 

$100. 
4. A customer will receive twice as much of a discount when 

spending $200 than $100. 
5. A customer will receive no discount when spending less than 

$50. 
 
Which of the statements above are true? 
 
A) 2, 4 and 5 

 
B) 2, 3 and 4 
 
C) 1, 2 and 4 
 
D) 1, 2 and 3 
 
 

General Strategies: 
 
1. Read the question. 
2. Highlight key words. 
3. Identify the math 

topic. 
4. Re-read the question. 
5. Refer to your memory 

aid, as needed. 
6. Solve the problem 

without looking at 
choices shown (A, B, 
C and D). 

7. Look at all the 
choices. 

8. Match your answer to 
the appropriate 
choice. 

Do not leave a blank! 
Make a choice! 
 
My Strategies: 

 

Name:	________________		 	 	 	 	 	 	 	 Step	Functions	–	03		
Date:	_________________	
	

	
1. A	store	offers	a	discount	of	$	5	for	every	$	50	in	purchases.		
	 	
The	graph	shows	the	value	of	the	purchases	(x)	and	the	amount	of	discount	a	customer	receives	(y).	
	
	
	
	
	
	
	
	
	
	
Consider	the	following	five	statements	regarding	the	graph.	

1) A	customer	who	spends	$150	will	receive	a	$10	discount.		

2) A	customer	who	spends	$75	will	receive	a	$5	discount.		

3) A	customer	will	receive	a	$5	discount	when	spending	less	than	� $100.		

4) A	customer	will	receive	twice	as	much	of	a	discount	when	spending	$200	compared	to	$100.		

5) A	customer	will	receive	no	discount	when	spending	less	than	� $50.		

	
	
Which	of	the	statements	above	are	true?	

A. 		2,	4	and	5		

B. 		2,	3	and	4		

C. 		1,	2	and	4		

D. 		1,	2	and	3		 	 	 	 	 	 	 	 	 Answer:	____________	

	
	



2. Peter	wants	to	rent	a	car.	He	plans	to	drive	85	km.	
He	checks	the	rental	costs	at	two	rental	companies,	Company	1	and	Company	2.		
The	graph	below	shows	how	cost	and	distance	travelled	work	for	each	company.	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

What	is	the	difference	in	the	rental	cost	between	the	two	companies	at	85	km?	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

Answer:	The	difference	in	price	between	Co.	1	and	Co.	2	at	85	km	is	$	____________________			.	
	



3. Customers	earn	points	for	every	purchase	they	make	at	a	music	store.		
When	they	have	accumulated	enough	points,	they	get	a	gift	card.	� 	

	
	 	 	 	 	 	 	 	

	
	
	
	
	
	
	
	
	
	
	
Kayla	made	four	purchases	at	the	store.	
Before	taxes,	the	values	of	her	purchases	were	$15,	$25,	$45,	and	$55	respectively.		
	
How	many	points	did	Kayla	earn	at	the	music	store?		
	
	
	
	

Answer:		Kayla	made	_______________	points	off	her	purchases	at	the	store	
	

	
	
	
	
4. The	cost	to	park	a	car	in	an	expensive	lot	is	$40	for	the	first	half	hour	and	$5.00	for	each	

additional	hour	or	part	thereof.		
	

	 A	customer	uses	this	parking	lot	for	five	hours.		
	 How	much	will	the	customer	pay	for	parking?		

	
	
	

	 	
	

	
	
	
	
	
	

The	customer	will	pay	____________	$	
	

	
	
	

x	 y	
	 	

	 	
	 	

	 	

	 	
	 	

	 	



CHALLENGE	:	
	
5. Here	is	the	discount	advertised	at	a	sporting	goods	store.		
		
	

DISCOUNT	

Get	$5	off	for	every	$20	
you	spend	before	taxes.	

	
Alex	bought	a	jersey	at	this	store	and	got	a	discount	of	$15.		
	
	
	
	
	
	
	
	
	
	
	
	
Ryan	bought	a	jersey	and	a	cap	at	the	same	store.		
He	got	a	discount	of	$20.	The	price	of	the	cap	was	$15.99.		
The	price	of	Alex’s	jersey	was	the	same	as	Ryan’s	jersey.		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
What	are	the	possible	prices,	before	taxes,	of	the	jersey	Alex	bought?		
	
	
	

Answer:	The	possible	prices,	before	taxes,	of	the	jersey	are:	____________________________	
	


